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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U. SHAH UNIVERSITY 
Winter Examination-2019 

 

Subject Name: Quantity Surveying and Estimating 
 

Subject Code: 2TE04QSE1    Branch: Diploma (Civil) 

    

Semester: 4       Date: 24/09/2019  Time: 02:30 To 05:30    Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14) 

 a The unit of measurement for concrete work in RCC is in 

(a) Sq.m (b) Cu.m (c) 10 Sq.m (d) 10 Cu.m 

(1) 

 b The process of evaluating cost of construction of a project is called 

(a) estimate (b) rough estimate (c) actual cost (d) workable cost  

(1) 

 c A revised estimate is prepared if the sanctioned estimate exceeds 

(a) 2% (b) 5% (c) 8% (d) 10% 

(1) 

 d The ratio of cost of labor to the total cost of the building is  

(a) 1:10 (b) 1:4 (c) 1:1 (d) 6:10 

(1) 

 e In specification of earth work in foundation trenches, drain etc. lift ordinarily 

specified is 

(a) 30m (b) 1.5m  (c) 5m  (d) 3m 

(1) 

 f While mixing cement mortar by volume, the volume of a cement bag is 

specified as 

(a) 50 liters  (b) 35 liters (c) 0.050 cu.m  (d) 0.35 cu.m 

(1) 

 g Number of bricks usually carried by a truck is 

(a) 2000 (b) 4000 (c) 4500 (d) 5000  

(1) 

 h In analysis of rate, the quantity of dry mortar for 10 cubic meter  

(a) 5 cu.m (b) 3 cu.m (c) 0.3 cu.m (d) 10 Cu.m 

(1) 

 i Thickness of plastering is usually 

(a) 6 mm (b) 12 mm (c) 25 mm (d) 40 mm 

(1) 

 j One cubic meter of mild steel weighs about 

(a) 1000 kg (b) 3625 kg (c) 7850 kg (d) 12560 kg 

(1) 

 k While doing analysis of rate, the number of brick taken into account per cubic 

meter is 

(1) 
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(a) 2000 (b) 500 (c) 100 (d) 50 

 l The expected outturn of cement concrete 1:2:4 per mason per day is 

(a) 1.5 cu.m  (b) 2.5 cu.m (c) 4  cu.m (d) 5 cu.m 

(1) 

 m In analysis of rates, contractor profit is taken at the rate of 

(a) 1% (b) 5% (c) 10% d) 20% 

(1) 

 n In measuring form work no deduction is made for opening upto 

(a) 1 Sq.m (b) 0.5 Sq.m (c) 0.4 Sq.m (d) 0.01 Sq.m 

(1) 

  Attempt any four questions from Q-2 to Q-8  

Q-2  Attempt all questions (14) 

 a) Explain the deduction rule for brickwork. 7 

 b) Calculate the following:  

1) No. of bricks required for 1cu.m. Brick work. 

2) Material for 100 m
2
, 1:3, 20 mm thick plaster 

7 

Q-3  Attempt all questions (14) 

 a) Explain centerline method. 7 

 b) Write detailed specifications for excavation in foundation. 7 

Q-4  Attempt all questions (14) 

 a) Find out the quantities of the following items for the fig.  

(i) Masonry work for the wing walls. 

(ii) Pointing work on exposed surface. 

 

7 
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 b) Write detailed specifications for RCC work. 7 

Q-5  Attempt all questions (14) 

 a) Give rate of BBCC in foundation (1:5:10) for10 m
3
. 7 

 b) Figure shows an RCC lintel and weather shed (chajja) for a 1.2 m wide 

window. Calculate the quantities of the following items. 

(a) RCC for lintel and chajja 

(b) Centering for lintel and chajja 

(c) Quantity of cement, sand and aggregate 

 

7 

Q-6  Attempt all questions (14) 

 a) Figure shows a pipe culvert. Calculate the following quantities in standard 

format. 

(a) Excavation in soft rock. 

(b) Masonry in abutment in C.M. 1:6 

(c) Cement concrete in foundation and barrel concrete 

7 
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 b) What are the reasons of exceeding the actual cost to estimated cost? 7 

Q-7  Attempt all questions (14) 

 a) Figure shows the details of an RCC beam. Calculate the following quantities. 

1) Total quantity of steel bars. 

2) Quantity of concrete work. 

 

7 

 b) Explain the principles of writing specification. 7 

Q-8    

  The Plan of a residential building is shown in Figure shown below: 

 Calculate quantity of following items in a quantity sheet. Adopt suitable brief 

specifications. 

1.Excavation in foundation 

2. B.B.C.C. (1:3:6) in foundation. 

3.First class brick work in foundation and plinth in cement mortar 1:6 

4.5 cm thick Damp proof course. 

5. Earth filling in Plinth. 

14 
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Q-1   Attempt the following questions: (14) 

  a આયવીવીભ ાં કોંક્રિટન  ક ભ ભ ટેન  ભ ઩નન ાં એકભ અંદય છે 

(a) ચો.ભી. (ફી) ક્ય .ભી (વી) 10 ચો.ભી (ડી) 10 ક્ય .ભી. 

(1) 

  b પ્રોજેક્ટન  નનભ ાણન  ખચાની મલૂમ ાંકન કયલ ની પ્રક્રિમ  કશલે ભ ાં આલે છે 

(a) અંદ જ (ફી) યપ અંદ જ (c) લ સ્તનલક ખચા (d) વ્મલશ ર  ખચા 

(1) 

  c જો ભાંજૂય કયેરો અંદ જ લધી જામ તો સ ધ યેરો અંદ જ તૈમ ય કયલ ભ ાં આલે છે 

(a) 2% (b) 5% (c) 8% (d) 10% 

(1) 

  d ભક નની ક ર ક્રકિંભત ભ ટે ભજૂયની ક્રકિંભતનો ગ ણોત્તય છે 

(ક) 1:10 (ફી) 1: 4 (વી) 1: 1 (ડી) 6:10 

(1) 

  e પ ઉન્ડેળન ખ ઈ, ડ્રેઇન લગેયેભ ાં ખોદ ણન  ક ભન  સ્઩ષ્ટીકયણભ ાં, વ ભ ન્મ યીતે 

સ્઩ષ્ટ કયેર લરફ્ટ છે 

(એ) 30 ભી (ફી) 1.5 ભી (વી) 5 ભી (ડી) 3 ભી 

(1) 

  f લોલય ભ દ્વ ય  નવભેન્ટ ભોટ ાયન ાં નભશ્રણ કયતી લખત,ે નવભેન્ટ ફેગન ાં લોલય ભ એ તયીકે 

સ્઩ષ્ટ થમેર છે 

(a) 50 લરટય (b) 35 લરટય (c) 0.050 cu.m (d) 0.35 cu.m 

(1) 

  g ઇંટોની વાંખ્મ  વ ભ ન્મ યીત ેટ્રક દ્વ ય  રેલ ભ ાં આલે છે 

(એ) 2000 (ફી) 4000 (વી) 4500 (ડી) 5000 

(1) 

  h દયન  નલશ્રે઴ણભ ાં, 10 ક્ય લફક ભીટય ભ ટે શ ષ્ક ભોટ ાયન ાં પ્રભ ણ 

(a) 5 cu.m (b) 3 cu.m (c) 0.3 cu.m (d) 10 Cu.m 

(1) 

  i પ્ર સ્ટક્રયિંગની જાડ ઈ વ ભ ન્મ યીત ેશોમ છે 

(એ) 6 ભીભી (ફી) 12 ભીભી (વી) 25 ભીભી (ડી) 40 ભીભી 

(1) 

  j એક ક્ય લફક ભીટય સ્ટીરન ાં લજન રગબગ 

(એ) 1000 ક્રકગ્ર  (ફી) 3625 ક્રકગ્ર  (વી) 7850 ક્રકગ્ર  (ડી) 12560 ક્રકગ્ર  

(1) 
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  k દયન ાં નલશ્રે઴ણ કયતી લખતે, ઘન ભીટય દીઠ ધ્મ નભ ાં રેલ ભ ાં આલતી ઇંટની 

વાંખ્મ  છે 

(એ) 2000 (ફી) 500 (વી) 100 (ડી) 50 

(1) 

  l દયયોજ ચણતય દીઠ નવભેન્ટ કોંક્રિટ 1: 2: 4 ની અ઩ેલિત આઉટટના છે 

(a) 1.5 cu.m (b) 2.5 cu.m (c) 4 cu.m (d) 5 cu.m 

(1) 

  m દયોન  નલશ્રે઴ણભ ાં, ઠેકેદ ય નપો દયે રેલ ભ ાં આલે છે 

(a) 1% (b) 5% (c) 10% d) 20% 

(1) 

  n પોભાન  ક ભન  ક ભભ ાં, ખોરલ  ભ ટે કોઈ ક઩ ત કયલ ભ ાં આલતી નથી 

(a) 1 ચો.ભી. (ફી) 0.5 ચો.ભી (c) 0.4 ચો.ભી (ડી) 0.01 ચો.ભી. 

(1) 

   Attempt any four questions from Q-2 to Q-8  

Q-2   Attempt all questions (14) 

  a) ઈંટક ભ ભ ટે ક઩ તનો નનમભ વભજાલો. 7 

  b) નીચેની ગણતયી કયો: 
1) 1cu.m. ભ ટે જરૂયી ઇંટોની વાંખ્મ . ઈંટન ાં ક ભ. 
2) 100 M

2
, 1: 3, 20 ભીભી જાડ  પ્ર સ્ટય ભ ટે વ ભગ્રી 

7 

Q-3   Attempt all questions (14) 

  a) વેન્ટયર ઇન ઩દ્ધનત વભજાલો. 7 

  b) પ ઉન્ડેળનભ ાં ખોદક ભ ભ ટે નલગતલ ય સ્઩ષ્ટીકયણો રખો. 7 

Q-4   Attempt all questions (14) 

  a) આકૃનત ભ ટે નીચેની લસ્ત  ઓની ભ ત્ર  જાણો. 
(i) ઩ ાંખની ક્રદલ રો ભ ટે ચણતયન ાં ક ભ. 
(ii) ખ લરી વ઩ ટી ઩ય ઩ોઇન્ટીંગ ક ભ  
 

 

7 
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  b) આયવીવી ક મા ભ ટે નલગતલ ય સ્઩ષ્ટીકયણો રખો. 7 

Q-5   Attempt all questions (14) 

  a) પ ઉન્ડેળનભ ાં ફીફીવીવીનો દય આ઩ો (1: 5: 10) 10 M
3
 ભ ટે. 7 

  b) આકૃનત 1.2 ભીટય ઩શો઱  નલિંડો ભ ટે આયવીવી લરિંટેર અને શલ ભ ન ળેડ (ચજ્જજા) 
ફત લે છે. નીચેની લસ્ત  ઓની ભ ત્ર ની ગણતયી કયો. 
(a) લરન્ટર અને ચજ્જજા ભ ટે આય.વી.વી. 
(ફી) લરન્ટર અને ચજ્જજા ભ ટે વેન્ટ્રીંગ 

(વી) નવભેન્ટ, યેતી અને દયની ભ ત્ર  

 

7 

Q-6   Attempt all questions (14) 

  a) આકૃનત એક ઩ ઇ઩ કલલટ ફત લે છે. પ્રભ ણભતૂ ફાંધ યણભ ાં નીચેની ભ ત્ર ઓની 
ગણતયી કયો. 
(એ) નયભ ખડકભ ાં ખોદક ભ. 
(ફી) ચણતય ક ભ અબ ટભેન્ટ ભ ાં C:M 1: 6 

7 
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(વી)પ ઉન્ડેળનઅનેફેયરકોંક્રિટભ ાંનવભેન્ટકોંક્રિટ

 
  b) લ સ્તનલક ક્રકિંભત અંદ જજત ક્રકિંભત કયત ાં લધી જલ ન ાં ક યણો શ ાં છે. 7 

Q-7   Attempt all questions (14) 

  a) આકૃનત એ આયવીવી ફીભની નલગતો ફત લે છે. નીચેની ભ ત્ર ની ગણતયી કયો. 
1) સ્ટીર ફ યનો ક ર જથ્થો. 
2) કોંક્રિટ ક ભની ભ ત્ર . 

 

7 

  b) સ્઩ષ્ટીકયણન  નવદ્ધ ાંતો વભજાલો. 7 

Q-8     

   યશણે ાંક ભક નની મોજન  આકૃનત- ભ ાં ફત લલ ભ ાં આલી છે. 
1. જથ્થ ની ળીટભ ાં નીચેની લસ્ત  ઓની ભ ત્ર ની ગણતયી કયો. મોગ્મ વાંલિપ્ત 
સ્઩ષ્ટીકયણો અ઩ન લો. 
1. પ ઉન્ડેળનભ ાં ખોદ ણ 

2. ફી.ફી.વી.વી. (1: 3: 6) પ ઉન્ડેળનભ ાં. 
3. પ ઉન્ડેળનભ ાં પ્રથભ લગા ઇંટન ાં ક ભ અને નવભેન્ટ ભોટ ાય 1: 6 ભ ાં 
4.5 વે.ભી. જાડ  DPC કોવા. 

14 
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5. ન઩લરન્થભ ાં બયતી. 
 


